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Question Number : 1 Question Id : 36496343737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The belief that children's behaviour can be modified by reinforcers and punishers is based on the

idea that development is primarily influenced by -
Options :

1. Heredity only

2. Both heredity and environment

3. Environment only

4. Neither heredity nor environment.

Question Number : 1 Question Id : 36496343737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496343738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child can throw the ball before holding a pencil and write. Which principle of development this

situation illustrates ?
Options :

1. Cephalo caudal principle
2. Proximo-Distal principle
3. Uniformity of Pattern

4. Principle of integration

Question Number : 2 Question Id : 36496343738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496343739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Motor and cognitive development happens:
Options :

1. Till the period of childhood.

2. Till the period of adoloscence.

3. Till the period of adulthood.

4. Throughout the lifespan.

Question Number : 3 Question Id : 36496343739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496343740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a primary agency of socialisation for children ?

Options :



1. School
2. Religion
3. Family

4. Community

Question Number : 4 Question Id : 36496343740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496343741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per Jean Piaget's ideas on language and thought, which of the following statements is true?
Options :

1. Thought determines language.

2. Language determines thought.

3. Language and thoughts are independents processes.

4. Language and thoughts are innate propositions.

Question Number : 5 Question Id : 36496343741 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496343742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two glasses hold the same amount of water yet Anu thinks that the taller glass holds more water

than the 'wider but shorter' glass. According to Jean Piaget, this reasoning of Anu is due to-
Options :

1. Centration

2. Seriation

3. Conservation

4. Maturation

Question Number : 6 Question Id : 36496343742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496343743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reversibility - the ability to reverse actions is a basic accomplishment of which stage as given in

the Piagetian theory of Cognitive development ?
Options :

1. Sensorimotor

2. Pre operational

3. Concrete Operational

4. Formal Operational

Question Number : 7 Question Id : 36496343743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 36496343744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A mathematics teacher is using more skilled peers to support and guide the other students, which

theoretical frame is she trying to apply in the class ?
Options :

1. Lev Vygotsky's theory of Social constructivism

2. B.F. Skinner's operant conditioning theory
3.Jerome Bruner's theory of constructivism

4. Jean Piaget's Cognitive development theory

Question Number : 8 Question Id : 36496343744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496343745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the basis of Lev Vygotsky's views on development ?
Options :

1. Maturation and culture

2. Language and physical world

3. Language and culture

4. Language and maturation

Question Number : 9 Question Id : 36496343745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 36496343746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Genderis a concept.
Options:

1. Moral

2. Biological

3. Social

4. Physiological

Question Number : 10 Question Id : 36496343746 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496343747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Neeta can recognize and clasify all varieties of animals, plants, metals and minerals. As per
Howard Gardner's theory of multiple intelligence, which of the following type of Intelligence is she

demonstrating ?
Options :
1. Interpersonal

2. Naturalistic



3. Linguistic

4. Intra-personal

Question Number : 11 Question Id : 36496343747 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496343748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To cater to individual differences in her class a primary school teacher should -
Options :

1. make strict rules for everyone in class and punish the children who disobey her
2. focus on standardized 'paper-pencil' as the primary way of assessment.

3. have uniform curriculum and pace of learning for all.

4. provide diverse learning experiences to students.

Question Number : 12 Question Id : 36496343748 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496343749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Eight year old Rohit reasons stealing is wrong because stealing behaviour can lead to his rejection

by others. As per Lawrence Kohlberg's theory of moral development, which stage is he displaying ?
Options :

1. 'Good boy'-'good girl' orientation

2. Punishment and disobedience orientation

3. Social order orientation

4. Universal ethical principles

Question Number : 13 Question Id : 36496343749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496343750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A collection of students' work on a variety of task throughout the meant for keeping a record of

their performance is known as a -
Options :

1. Rubric

2. File

3. Data sheet

4. Portfolio

Question Number : 14 Question Id : 36496343750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496343751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a progressive school, the education imparted will make the children -
Options :

1. Active explorers

2. Active followers

3. Passive followers

4. Passive explorers

Question Number : 15 Question Id : 36496343751 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496343752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fluency, elaboration and flexibility are characteristics of -
Options :

1. Egocentricism

2. External motivation

3. Creativity

4. Functional fixedness

Question Number : 16 Question Id : 36496343752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 36496343753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Inclusion of students with orthopedic challenges requires -
Options :

1. Standardised curriculum



2. Infrastructural Accessibility
3. Rigid attitudes of authority

4. Placement in special school

Question Number : 17 Question Id : 36496343753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496343754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Dyslexia is generally categorised as :
Options :

1. Spectrum of learning disorders

2. Mild mental retardation

3. Spectrum of psycho-social disorders

4. Common motor disability in childhood

Question Number : 18 Question Id : 36496343754 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496343755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is NOT a principle of inclusive teaching.

Options :

1. Equity

2. Segregation and labelling

3. Systematic adaptation to diversity

4. Acceptance of individual differences

Question Number : 19 Question Id : 36496343755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496343756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assertion (A)- Children belonging to the potter community learn conservation of mass earlier than

conservation of number.
Reason(R)- Learning and development takes place in a socio- cultural context.

Choose the correct option.

Options :

1. Both (A) and (R ) are true and (R ) is the corect explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. Both (A) and (R) are false

Question Number : 20 Question Id : 36496343756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496343757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When students learn a behaviour through observation, the first step of that process is that they

must -

Options :

1. remember the actions of the model
2. pay attention to the model

3. assessment of their acts of imitation

4. repeat and practice the behaviour of the model

Question Number : 21 Question Id : 36496343757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496343758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Understanding the errors made by learners is important for a teacher as -
Options :

1. she can identify 'weak' and 'bright' learners

2. she can understand the learners' thought process

3. she can inform parents about the learner's carelessness

4. she can segregate and rank the learners

Question Number : 22 Question Id : 36496343758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496343759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 states that learning should be-
Options :

1. Content oriented

2. Textbook centric

3. Experiential

4. Behavioristic

Question Number : 23 Question Id : 36496343759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496343760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tanvi practices deep breathing just before the onset of examination. She is using strategy

to cope with anxiety.



Options :

1. Problem solving

2. Emotion management
3. Avoidance

4. Denial

Question Number : 24 Question Id : 36496343760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 5 B T, 7 - 4 €] P e e ERlEEok kR
?

Options :
1. HAST FHIE

2. Hid Eﬁ‘qqq

Question Number : 25 Question Id : 36496343761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During the lockdown due to COVID-19 pandemic, Rohini likes to read the story books her elder

sister had without any promting from anybody. Rohini is a -
Options :

1. Competitive learner

2. Intrinsically motivated learner

3. Performance-oriented learner



4. Extrinsically motivated learner

Question Number : 25 Question Id : 36496343761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496343762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Alternate conceptions and misconceptions hold by children represent :
Options :

1. Inability to learn

2. Intuitive ideas about particular concept

3. Baseless assertions

4. Permanent conceptional stagnation

Question Number : 26 Question Id : 36496343762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496343763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following pedagogical strategies are effective in a primary classroom ?
(i) Use of concept maps

(i) Moving from abstract to concrete concept

(iii) Provisioning for diverse materials

(iv) Use of stories and anecdotes
Options :

1. (i) (i) (i)

2. (i) (iii) (iv)

3. (i) (iii) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 27 Question Id : 36496343763 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. (Q). (i), (iii)

, (D), (i), (iv)
. (i), (i), (iv)

5. (1), (i), (iii), (iv)

Question Number : 28 Question Id : 36496343764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A primary teacher asks her students to write all the information at least five times in their

notebook. The technique would be -

Options:

1. highly effective since rehearsal and repetition helps significantly in meaningful learning of
content.

2. effective since repetition of any information less than five times leads to immediate forgetting.
3. ineffective since more rehearsal is not a suitable technique for meaningful learning.

4. ineffective since rehearsal is a complex method of meaningful learning.

Question Number : 28 Question Id : 36496343764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 36496343765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are effective problem solving strategies?
(i) Algorithms

(ii) Heuristics

(iii)Trial and error without comprehension

(iv) Functional fixedness
Options :

1. (i), (iv)

2. (i), (ii)

3. (i), (iii)

4. (iii), (iv)



Question Number : 29 Question Id : 36496343765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1 (1), (1v)
5, (1), (11)
5. (11), (1ii)

4. (i), (iv)

Question Number : 30 Question Id : 36496343766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of these activities is NOT effective for making use of the previous knowledge of

children for further learning ?
Options :

1. Rote memorization

2. Brainstorming

3. Schema activation

4. Concept mapping



Question Number : 30 Question Id : 36496343766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 36496343767 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher gives tokens to 10 students and asked them to arrange them in rectangular form. Murad observed that if the
number of tokens is 4, 9 and 16 he can form squares but if the number of tokensis 2, 3,5, 6,7, 8, 10, 11, 12, 13, 14,
and 15 he cannot form square. This activity DOES NOT help him in understanding about

Options :

1. Volume of each of the token

o5 Area of squares
3. Factors of numbers up to 16

4. Perfect squares

Question Number : 31 Question Id : 36496343767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 36496343768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the product of the given numbers 0.54 x 0.01 x 0.4

Options :
1. 2.16

> 0.216
3. 0.0216

4 0.00216

Question Number : 32 Question Id : 36496343768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
0.54x0.01x0.4

Options :

1. 2.16

5 0.216
3. 0.0216

4. 0.00216

Question Number : 33 Question Id : 36496343769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

How many packets ofé kg sugar can be made from two packets of sugar containing 2% kg and 3& kg amount of
sugars?

Options :
1. 52

2. 48

4, 36

Question Number : 33 Question Id : 36496343769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

7. 32

2. 48

3, 04

4, 36

Question Number : 34 Question Id : 36496343770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers are not perfect squares?



Options :
1. 625

5> 169
3. 225

4 222

Question Number : 34 Question Id : 36496343770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FrTeIRaa = | i I §@aTs qu & T8 87
Options:

1. 625

5 169

Question Number : 35 Question Id : 36496343771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of two digits of a 2 digit number is 12. If 3 times of the sum is subtracted from the number, digit are reversed.
The number is.

Options :
1. 57



3. 84

Question Number : 35 Question Id : 36496343771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 37

Question Number : 36 Question Id : 36496343772 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The sum of remainders obtained on dividing 24879 by 27 and 367842 by 23, is divided by 4. The remainder on dividing
by 4 will be?

Options :
1.1



Question Number : 36 Question Id : 36496343772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T 24879 3 27 4 367842 1 23 T 09 . AT o8 W 5 A 41 4 @ Tt T T 21 49
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Options :

1.1

[

Question Number : 37 Question Id : 36496343773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Product of two numbers has four zeroes on it's right places. If one of the numbers has exactly two zeroes on its
extreme right , the other number of zeroes on the extreme right of the other number is:

Options:
1. maximum one

2. maximum two

3 exactly one



4 exactly two

Question Number : 37 Question Id : 36496343773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.

, FTeEFaT &

Question Number : 38 Question Id : 36496343774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A stadium in Patna has only 800 meters track for running. If you run a marathon of 20km on a stadium track, how
many rounds you will have to complete?

Options :
1. 20

2. 16



Question Number : 38 Question Id : 36496343774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
7. 20

2. 16

3. 40

»
[~
LA

Question Number : 39 Question Id : 36496343775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the total number of lines of symmetries and rotational symmetry of a rectangle which cannot be square
Options :

1. 4



Question Number : 39 Question Id : 36496343775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
UE ATIE, ST T €, F Fe bl (R AR AR FHEA gl 82

Options:
1.4

Question Number : 40 Question Id : 36496343776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following instrument/activity cannot be used for verifying whether two angles are equal or not
Options :

1. A rectangular strip fixed at one edge of a fixed rectangular strip and can be moved freely

2. Protractor

3. Ruler

4. Cutout of one angle (sector) and overlap it with the other

Question Number : 40 Question Id : 36496343776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 36496343777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Karuna checked four fields Field A, Field B, Field C and Field D of the dimensions 20 m x 30 m, 23m X 27m, 24m % 26m
and 25m % 25m respectively. Which field she needs to buy to plant maximum number of trees?

Options :
1. Field A
2. Field B

3. Field C

4 FieldD

Question Number : 41 Question Id : 36496343777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 42 Question Id : 36496343778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

On the map of India, the distance between Delhi to Shimla is 2.5¢cm, Delhi to Dehradun is 1.5¢cm, the distance between
Shimla to Mumbai is 4.5cm, Shimla to Dehradun is 2 cm. 1 cm on the map shows 250km on the ground, Hiya has to
travel Dehradun to Mumbai via Shimla. How much distance she will have to travel?

Options :
1. 1125km
2. 1725km

3. 500km

4. 1625km

Question Number : 42 Question Id : 36496343778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1 1125 f

5 1725 TR,

Question Number : 43 Question Id : 36496343779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student’s school is at a distance of 5km from the students house. If the student walks at 07:45 am , with the speed
100 meter/minute, then at what time the student will reach to the school -

Options :
1. at 8:30 am
2. at 8:25 am

3, at&:35am

4. at 8:45am

Question Number : 43 Question Id : 36496343779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TR T o e 9 T S e 01O 8| e 100 e e e 71 6 G 45 WA
FALT T T?hn:ia@rbq;\cdﬂ?ﬂm|uj|t?

Options :

. WS:SOEET

Y =
, TEE 825

3. ﬂa? 8:3594

4 SE 8:45 95

Question Number : 44 Question Id : 36496343780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the value of
-2+4-6+8-10+12 — - +1007

Options :
1. 50

5> 100

Question Number : 44 Question Id : 36496343780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
B I |y +100 =T T 4T 27

Options :
0

Lh

1.

5 100

Question Number : 45 Question Id : 36496343781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meeta wants to collect only X 2 coins. Her mother gave her an old piggy bank and asked her to exchange all money to
get X2 coins. When she opened the piggy bank she found 2 notes of X 100, 3 notes of X 20, 10 notes of X 10, 50 coins
0f X5, 77 coins of X 1 and 98 coins of X 0.50 paise. How many X 2 coins she can get in exchange of this money?

Options :
1. 736
2. 368

3 638

4. 386

Question Number : 45 Question Id : 36496343781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST S 2 8 9 e ) A e ) oA 11 8 AT T T 1 1 58 1 31 et 27
3 T 7 1 1 e et 3 e 100 T 3 2 7, 20 T % 3 7%, 10 T 10 7, 5 T 3 50
o, | T 77 o S T (S0) T 3 08 ) G T 3 9 T o ) O o T e )

Options :
1. 136

5 368
3 638

4 386

Question Number : 46 Question Id : 36496343782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A class Il mathematics teacher gave the following questions to her students:

256 28 129
+17 3 +3 2 + 7 6

Later she asks the students to solve a worksheet which has similar questions.
Which of the following statements is appropriate for the given situation?

Options :
1. The tasks is based on drill and practice and should be discouraged at primary level
L is an example of open ended task

3 It is an example of contextual question

4 Teacher should have asked the students to solve ten more such questions as a home task to save the time



Question Number : 46 Question Id : 36496343782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 36496343783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by “learning by doing” in the context of mathematics?
Options :
1 Learning the concept in mathematics by doing meaningful, hands-on activities related to the concept

o Doing the question multiple times till the procedures are rote memorized.

3. Learning the concepts by doing the textbook questions



4 Learn to solve the problem on your own.

Question Number : 47 Question Id : 36496343783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 48 Question Id : 36496343784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The concept of ‘Data handling’ in a classroom includes:

(a) Representation of data
(b) Analysis of data

(c) Collection of data

(d) Storage of data

Choose the correct option
Options :
1. (a) and (d)



5 (a), (b) and (c)

3. (b)and (d)

4. (a) and (d)

Question Number : 48 Question Id : 36496343784 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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2.
3 bard

4. E’iaﬁTd

Question Number : 49 Question Id : 36496343785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National curriculum Framework (2005), ‘Technology can aid the process of Mathematical Exploration and
can help engage students’ hence



Options :

1. use of calculators should be allowed in all the school examinations

2. paper-pencil algorithms should be abolished

3 technology can be used to facilitate the teaching — learning of abstract concepts in mathematics

4. blackboards should be replaced by smart boards in classrooms

Question Number : 49 Question Id : 36496343785 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 36496343786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘BalLA’ concept which is an initiative supported by UNICEF is :-

Options :



1. Books as Learning Aid
2. Building as Learning Aid
3. Bulletin board as Learning Aid

4. Blackboard as Learning Aid

Question Number : 50 Question Id : 36496343786 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 36496343787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Recognition of patterns and their completion’ is an essential part of mathematics curriculum at primary level as it
Options :

1 Develops creativity and artistic attributes in students



o Prepares students to engage with higher mathematics
3 Help students in solving mathematical puzzles

4. Promotes creafivity amongst students and helps them to understand the properties of numbers and operations

Question Number : 51 Question Id : 36496343787 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 52 Question Id : 36496343788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For assessment in class [, a mathematics teacher creates a record of progress of the students using the following
parameters: - conceptual understanding, mathematical reasoning, atfitude towards mathematics, solving new
problems, finding multiple ways to solve the problems. The data from this type of assessment is least useful for -
Options :

1. Providing feedback to the student and developing need-based teaching plans



2 Rank the students according to their scores

3 Understanding the questions that are answered incorrectly by the students

4. Understanding the attitude of the students

Question Number : 52 Question Id : 36496343788 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 36496343789 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child says % s less than 1/3 because 2 is less than 3. Which of the following technique would be least helpful for the
child to clear his misconception?

Options:

Lecturing him that in fractions, bigger number in the denominator of the fraction means the value of the fraction is
1. small



2. Helping him visualise the two fractions by using real life objects
3. Taking help of paper folding in different examples and comparing the fractions

4 Giving the pictorial representation of the two fractions

Question Number : 53 Question Id : 36496343789 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 36496343790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Meaning of the word ‘Heurisco’ is
Options :

1. To know



2. To Think
3. To Learn

4. To Discover

Question Number : 54 Question Id : 36496343790 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 36496343791 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Jenny, a class |l teacher asked her students ‘If you have 3 tens and you have to take away 3 units from it, which
number do you get?’
One of her students responded “It is zero.” To rectify the error, Ms. Jenny should first focus on :

Options :

1 Providing more similar problems to practice

5 Stre ngthening the operation of addition first and then move to subtraction



3. Strengthening the concept of place value by providing hands- on experiences

4. Teaching only the standard algorithm of subtraction

Question Number : 55 Question Id : 36496343791 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oo, o 11 7 TR 3 T T g, 7 0 T 3 8 4 S 3 o 6 e £,
TS G 1 ) 3 O T P ¥ < G 9 1 59 7 7 G 6 o, G 6
Options :

| VT 3 (o0 ST TR % I SATaT 9 o W

5 e 1T AT HIHATSTI 1 Yo i I A [ STaeherd ol A 5 T
; Tt framefier STWat R ST A1 1 ST i 956 F T

4, STTFHAT T e AT FeAd (o1 o f3reqor o2

Question Number : 56 Question Id : 36496343792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a skill of measuring time?
Options:

1. Reading time on a clock

2. Finding duration of an event



3 Establishing relationship between different units of measuring time

4. Estimation of position of stars at night

Question Number : 56 Question Id : 36496343792 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 36496343793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Manipulatives or models, static pictures, written symbols, spoken and written language, real world situations or
contexts are five ways to represent

Options :

1. mathematical ideas

2 geometrical proof



3. mathematics curriculum

4. Mathematical vocabulary

Question Number : 57 Question Id : 36496343793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 36496343794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Solving mathematical puzzles at primary level helps in:
Options :
1. Identifying brilliant students in the class

2. Providing fun to the students

3. Promoting problem solving skills



4. Unlearning problem solving skills

Question Number : 58 Question Id : 36496343794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 59 Question Id : 36496343795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Van Hiele's theory of Geometric Reasoning which of the following is an example of Analysis level?
Options :

1. Seema knows that an Isosceles triangle has two equal sides two equal angles
5 Seema identifies a shape as triangle which is closed by three straight lines

3. Seema knows that an lsosceles triangle is symmetric, so its base angles must be equal

4. Seema recognizes that all Isosceles triangles are triangles, but not all triangles are Isosceles triangles



Question Number : 59 Question Id : 36496343795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 36496343796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is indicative of Gender Bias in mathematics learning in a classroom?
Options :

1. It is important to have references to achievements of women mathematicians in math textbooks
2 Girls and boys should be given equal opportunities to learn mathematics

3. Both boys and girls should set equal opportunity for higher education in mathematics

4. Boys mathematical success is attributed to their abilities and girls success to their efforts



Question Number : 60 Question Id : 36496343796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 36496343797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of the scientist who did experiments with the pea plants and on the basis of observation
concluded that the pea plants have some traits which come in pairs; such as tall or short, yellow or

green, rough or smooth etc.is
Options:

1. Charles Darwin

2. Gregor Mendal

3. George Mestral

4. M. S. Swaminathan

Question Number : 61 Question Id : 36496343797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 62 Question Id : 36496343798 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the one which is different from the others;

Lake, Mountains, Pond, River, Spring
Options :

1. Lake

2. Mountain

3. Pond

4. Spring

Question Number : 62 Question Id : 36496343798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :

), S

Question Number : 63 Question Id : 36496343799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is different from the other four mode of transport;



Train, Bus, Ship, Tonga, Bicycle, Rickshaw
Options:

1. Ship

2. Bus

3. Tonga

4. Bicycle rickshaw

Question Number : 63 Question Id : 36496343799 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496343800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Karnataka the implement used by the farmer to dig the soil so as to loose and make it soft is

known as-
Options :
1.illige

2. kurige
3. khunti



4. khurpi

Question Number : 64 Question Id : 36496343800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 65 Question Id : 36496343801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the term of column I and II:



[ (Organism) II (Characteristic feature)

A) Owl (1) Birds that can see four times as
far as we can.
B) Silk worm (i1) Spends almost 17 hours a day

sleeping while hanging upside
down on a tree branch.

C) Eagle (i11) Bird having eyes on either
side of the head.
D) Sloth (iv) To find its female from many

kilometres away by her smell.

Options:

1. A-iii, B-i, C-iv, D-ii
2. A-i, B-iv, C-iii, D-ii
3. A-iii, B-iv, C-i, D-ii

4. A-iii, B-ii, C-i, D-iv

Question Number : 65 Question Id : 36496343801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. A-11T1 B-1 C-IV D-II

2 A-1 B-1V C-III D-II

3. A-IIl B-IV C-1 D-II

4 A-IIIB-II C-I, DIV

Question Number : 66 Question Id : 36496343802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following was brought to our country by the traders coming from South America?
Options :

1. Cabbage

2. Tomato

3. Pea

4. Bhindi

Question Number : 66 Question Id : 36496343802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

D S, =

TeTeTRgs & © Torel 29 397 § ST STt SATURT STe0T STHTER & B9 337 § =70 99

Options:



. T

Question Number : 67 Question Id : 36496343803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A car starts from a city X at 7:30 hours and reaches city Y at 22:30. If the distance between the two

cities is 540 kilometers, the average speed of the car is-
Options :
1.36 m/s
2.24 m/s
3.20m/s

4.10 m/s

Question Number : 67 Question Id : 36496343803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 36 HI.

Question Number : 68 Question Id : 36496343804 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about honeybees:
A) Every beehive has one queen bee that lays eggs.
B) There are only a few male bees in the hive.

C) Male bees are very important for the hives.

D) Most of the bees in the hive are worker bees.

E) The male bees collect nectar from flowers.

The correct statements are:
Options :

1.A,BandE

2.A,Band D
3.A,B,CandE

4.A,C,DandE

Question Number : 68 Question Id : 36496343804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496343805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A group of three Indian states having coasts on the Arabian Sea are-
Options :

1. Kerala, Karnataka, Maharashtra

2. Gujarat, Maharashtra, Tamil Nadu

3. Andhra Pradesh, Kerala, Karnataka

4. Gujarat, Maharashtra, West Bengal

Question Number : 69 Question Id : 36496343805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 36496343806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following states/ union territory of our country, the land of the forests for farming

belongs to the whole village not to the separate people?
Options:

1. Ladakh

2. Pudduchery

3. Mizoram

4. Chhatisgarh

Question Number : 70 Question Id : 36496343806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496343807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The main crop of Jharkhand is
Options :

1. wheat

2. peanut

3. corn

4. rice

Question Number : 71 Question Id : 36496343807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TGS Fif TT FAA ©-

Options :

Question Number : 72 Question Id : 36496343808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following, the reasons of considering the earthworms as the friends of the

farmers:



A) Earthworms soften the soil of the field in which they live by digging the soil underneath.
B) The tunnels digged by earthworms provide easy passage for air and water into the soil.
C) The earthworms eat the weeds and save the main crop.

D) The earthworms eat the dead leaves and plants. The dropping of the earthworms make the soil

more fertile.

The correct statements are-
Options :

1.A,Band C

2.B,Cand D

3.C,Dand A

4. A,Band D

Question Number : 72 Question Id : 36496343808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496343809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Madhubani is a a very old form of folk art. During festivals and happy occasions Madhubani
paintings are made in the courtyards and walls of the houses of Madhubani which is well known

district of one of the states of India named-
Options:

1. Uttar Pradesh

2. Uttrakhand

3. West Bengal

4. Bihar

Question Number : 73 Question Id : 36496343809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 36496343810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

A) People of Maharashtra love to eat pakoras made of sahjan flowers.

B) In Jammu and Kashmir people like to eat vegetables made of banana flowers.
C) In Uttar Pradesh people enjoy eating a vegetable made of kachnar flowers.

The correct statement(s) is/are:
Options :

1.only B

2.only C

3.Aand B

4. Aand C

Question Number : 74 Question Id : 36496343810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496343811 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This is a place in Uttarakhand and is also an important tourist destination. The park is associated

with conservation of Tiger. Identify the place.
Options :

1. Buxa Park

2. Dudhwa Park

3. Corbett Park

4. Valmiki Park

Question Number : 75 Question Id : 36496343811 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496343812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following objective of teaching EVS shows the concern of education for sustainable

development.

Options :

1. To critically address the concern of equality, justice, peace and respect for human dignity and
rights.

2. To develop the technological and quantitative skills.

3. To engage the child in exploratory activities.

4. To emphasise design and fabrication skills.

Question Number : 76 Question Id : 36496343812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 36496343813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The themes of EVS at primary level are connected and inter-related because of
Options:

1. Integrated nature of EVS.

2. Disciplinary nature of EVS.

3. Single subject nature of EVS.

4. Topic based nature of EVS.

Question Number : 77 Question Id : 36496343813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496343814 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Child centred nature of EVS is because of

Options :

1. its focus on learning through experience.

2. the teaching of concepts and issues related to the EVS.

3. transformation of behaviour of the student in a desired way.



4. the development of socio-emotional skills of the students.

Question Number : 78 Question Id : 36496343814 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 36496343815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a subtheme of the syllabus of EVS?
Options :

1. Food

2. Water

3. Shelter

4. Relationships

Question Number : 79 Question Id : 36496343815 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496343816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pochampalli' chapter 23 of NCERT EVS is based on
Options :

1. real places

2. real incidents

3. real people and their experiences

4. real picture

Question Number : 80 Question Id : 36496343816 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496343817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following suggested activity/activities will be suitable for addressing the question

from the theme 'Food' "Who produces the food we eat?"

A) Sharing of farmers narratives.

B) Visit and observation on a farm.

C) Experiment to know the condition suitable for germination.

D) Keeping some bread or other food for few days.
Options :

1.A, B, C

2.A,B,Cand D

3.B,Cand D

4. A, CandD

Question Number : 81 Question Id : 36496343817 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496343818 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For authentic and meaningful learning of EVS through field trip a teacher can use:
A) Structured worksheet

B) Unstructured worksheet

C) Formal instructions for the visit

D) Creating group of the students and their leader
Options :
1.A,C,D
2.B,C,D

3.Aand D only



4.B and D only

Question Number : 82 Question Id : 36496343818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496343819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The purpose of giving Mendel's story through the chapter 21 of class 5, "like father, like daughter"
in the EVS textbook of NCERT is to:

A)give the principles of genetics.
B)focus on how our identity is shaped by traits we inherit from our family.

C) inspiring students by the process of scientific experimentation.



D) focus on the perseverance character of the scientists.
Options :

1.A,B, C

2.B,Cand D

3.A,Cand D

4. A and D only

Question Number : 83 Question Id : 36496343819 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496343820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select the technique of formative assessment-



Options :

1. Peer assessment
2. Rating scale

3. Portfolio

4. Assignments

Question Number : 84 Question Id : 36496343820 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496343821 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tool is based on the technique of observation?
Options :

1. Paper pencil test

2. Assignment

3. Worksheet

4. Portfolio



Question Number : 85 Question Id : 36496343821 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496343822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following process indicators can be used for assessment in EVS to record how

students are learning?
Options :

1. Discussion

2. Remember

3. Recall

4, State

Question Number : 86 Question Id : 36496343822 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. o famst
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Question Number : 87 Question Id : 36496343823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is easy for a teacher in EVS classroom?
Options:

1. Give information to students

2. Addressing students' ideas

3. Providing opportunities to students for learning

4. Engaging students

Question Number : 87 Question Id : 36496343823 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496343824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which is the effective resource for the learning of EVS?
Options :

1. Narratives

2. Worksheets

3. Models

4. Charts

Question Number : 88 Question Id : 36496343824 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 89 Question Id : 36496343825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following will be liked by the students in EVS class?
Options:

1. Arts and crafts

2. Individual work

3. Assessment of home work

4. Black board summary of the lesson

Question Number : 89 Question Id : 36496343825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496343826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In an EVS class, students get opportunities to-
Options:

1. ask questions

2. learn definitions

3. state concepts



4. give descriptions

Question Number : 90 Question Id : 36496343826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 3649631424
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1

Sub-Section Id : 3649632560



Question Shuffling Allowed : Yes

Question Id : 36496343827 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)
Question Label : Comprehension

Read the following passage and answer the questions that follow by
choosing the correct/most appropriate options:

Savitribai was born on January 3, 1831, in Naigon (presently in
Satara district) in British India in a farming family to Khandoji
Neveshe Patil and Lakshmi as their eldest daughter. Girls in those
days were married off early, so following the prevalent customs, the
nine-year-old Savitribai was wedded to 12 years old Jyotirao Phule
in 1840. Jyotirao went on to become a thinker, writer, social activist
and anti-caste social reformer. He is counted among the leading
figures of Maharshtra’s social reform movement. Savitribai’s
education started after her marriage. It was her husband who
taught her to read and write after he saw her eagerness to learn and
educate herself. She cleared third and fourth year examination from
a normal school and became passionate about teaching. She took
training at Ms Farar’s Institution in Ahmednagar. Jyotirao stood
firmly by the side of Savitribai in all her social endeavours.

The first indigenously-run school for girls in Pune (at that time
Poona) was started by Jyotirao and Savitribai in 1848 when the
latter was still in her teens. Although they were ostracized by both
family and community for this step, the resolute couple was given
shelter by a friend Usman Sheikh and his sister Fatima Sheikh, who
also gave the Phule couple place in their premises to start the school.

Savitribai became the first teacher of the school. Jyotirao and
Savitribai later started schools for children from the Mang and
Mahar castes, who were regarded as untouchables. Three Phule
schools were in operation in 1852. On November 16 that year, the
British government honoured the Phule family for their
contributions in the field of education while Savitribai was named
the best teacher. That year she also started the Mahila Seva Mandal
with the objective of creating awareness among women regarding
their rights, dignity and other social issues. She was successful in
organising a barbers strike in Mumbai and Pune to oppose the
prevailing custom of shaving heads of widows.

Sub questions



Question Number : 91 Question Id : 36496343828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Jyotirao Phule decided to teach his wife to read and write
because

he wanted her to get a govt. job.

he wanted to show her off as an educated wife.
he wanted her to go abroad for higher studies.
4. she was very eager to learn and educate herself.

ol v B

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496343829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why were Jyotirao and Savitribai ostracised?

They started the first school for girls.
They were unorthodox in their views.
They fought for widows' rights.

They were not liked by the upper castes.

= Ll B P

Options:
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496343830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The British Govt. honoured Jyotirao and Savitribai for

making people aware of social evils.

helping the poor and the destitute.

for fighting for gender equality.

4. for their contribution in the field of education.

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496343831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What occupation did the family of Savitribai follow?

Sericulture
Pisciculture
Agriculture
4. Horticulture

i Bk

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496343832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following statements:
A. Jyotirao Phule was a versatile personality.
B. Manga and Mahar castes were ill-treated by the
upper class people.

A is false and B is true.
B is false and A is true.
Both A and B are false.
4. Both A and B are true.

o

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 36496343833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which word in the passage means the same as
‘eagerness’?

keenness
indifference
failure

4. coarseness

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496343834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following words is opposite in meaning to the
word ‘latter’?

1. latest
2. former
3. later

4, earlier

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496343835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Jyotirao Phule is counted among leading figures of
Maharshtra’s Social reform movement.

MNoun
Adverb
Adjective
4. Pronoun

el e

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496343836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the following sentence contains an error?
Despite of  his best efforts he failed to win
(a) (b) (c)
the first prize
(d)

(b)
(a)
(c)
(d)

e i i

Options :
1.1
2.2
3.3

4.4

Question Id : 36496343827 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the following passage and answer the questions that follow by
choosing the correct/most appropriate options:

Savitribai was born on January 3, 1831, in Naigon (presently in
Satara district) in British India in a farming family to Khandoji
Neveshe Patil and Lakshmi as their eldest daughter. Girls in those
days were married off early, so following the prevalent customs, the
nine-year-old Savitribai was wedded to 12 years old Jyotirao Phule
in 1840. Jyotirao went on to become a thinker, writer, social activist
and anti-caste social reformer. He is counted among the leading
figures of Maharshtra’s social reform movement. Savitribai’s
education started after her marriage. It was her husband who
taught her to read and write after he saw her eagerness to learn and
educate herself. She cleared third and fourth year examination from
a normal school and became passionate about teaching. She took
training at Ms Farar’s Institution in Ahmednagar. Jyotirao stood
firmly by the side of Savitribai in all her social endeavours.

The first indigenously-run school for girls in Pune (at that time
Poona) was started by Jyotirao and Savitribai in 1848 when the
latter was still in her teens. Although they were ostracized by both
family and community for this step, the resolute couple was given
shelter by a friend Usman Sheikh and his sister Fatima Sheikh, who
also gave the Phule couple place in their premises to start the school.

Savitribai became the first teacher of the school. Jyotirao and
Savitribai later started schools for children from the Mang and
Mahar castes, who were regarded as untouchables. Three Phule
schools were in operation in 1852. On November 16 that year, the
British government honoured the Phule family for their
contributions in the field of education while Savitribai was named
the best teacher. That year she also started the Mahila Seva Mandal
with the objective of creating awareness among women regarding
their rights, dignity and other social issues. She was successful in
organising a barbers strike in Mumbai and Pune to oppose the
prevailing custom of shaving heads of widows.

Sub questions

Question Number : 91 Question Id : 36496343828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Jyotirao Phule decided to teach his wife to read and write
because

he wanted her to get a govt. job.

he wanted to show her off as an educated wife.
he wanted her to go abroad for higher studies.
4. she was very eager to learn and educate herself.

ol e B

Options:
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 36496343829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why were Jyotirao and Savitribai ostracised?

They started the first school for girls.
They were unorthodox in their views.
They fought for widows' rights.

They were not liked by the upper castes.

o L B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496343830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The British Govt. honoured Jyotirao and Savitribai for

making people aware of social evils.

helping the poor and the destitute.

for fighting for gender equality.

for their contribution in the field of education.

el ol e



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 36496343831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What occupation did the family of Savitribai follow?

Sericulture
Pisciculture
Agriculture
4. Horticulture

Ll Bt

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496343832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
A. Jyotirao Phule was a versatile personality.
B. Manga and Mahar castes were ill-treated by the
upper class people.

A is false and B is true.
B is false and A is true.
Both A and B are false.
4, Both A and B are true.

AN D B

Options:

1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 36496343833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which word in the passage means the same as
‘eagerness’?

keenness
indifference
failure

4. coarseness

il ol

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496343834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following words is opposite in meaning to the
word ‘latter’?

1. latest
2. former
3. later

4, earlier

Options :
1.1
2.2
3.3
4.4



Question Number : 98 Question Id : 36496343835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the
following sentence?

Jyotirao Phule is counted among leading figures of
Maharshtra’s Social reform movement.

Noun
Adverb
Adjective
4. Pronoun

it el e

Options:
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496343836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?
Despite of  his best efforts he failed to win

(a) (b) (c)

the first prize

(d)

1. (b)

2. (a)

3 {e)

4, (d)

Options :
1.1
2.2
3.3

4.4



Sub-Section Number : 2
Sub-Section Id : 3649632561

Question Shuffling Allowed : Yes

Question Id : 36496343837 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:

As a fond mother, when the day is o'er,
Leads by the hand her little child to bed,
Half willing, half reluctant to be led,
And leave his broken playthings on the floor,
Still gazing at them through the open door,
Nor wholly reassured and comforted
By promises of others in their stead,
Which though more splendid may not please him more;
So nature deals with us, and takes away
Our playthings one by one, and by the hand
Leads us to rest so gently, that we go
Scarce knowing if we wish to go or stay,
Being too full of sleep to understand
14. How far the unknown transcends the what we know

e B R e
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Sub questions

Question Number : 100 Question Id : 36496343838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The poem deals with the idea that human life is

immutable.

immortal.

full of ups and downs.
4. impermanent.

Gl b e

Options :

1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 36496343839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator of the poem is

1. a greedy child.

2. an aspiring youth.
3. adisillusioned man.
4. a reflective old man.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496343840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The tone of the poem is:

depressing
pleasant
solemn

4. reverential

L B e

Options :
1.1
2.2
3.3
4.4



Question Number : 103 Question Id : 36496343841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is true?

1. The child is tired and wants to go to the bed.

2. The mother rebukes the child for not obeying her.

3. The child cries because someone has stolen his
playthings.

4. The child is partly willing and partly hesitant to be
led to the bed.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496343842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used in ‘So nature deals with us,
and takes away our playthings’?

Metaphor
Alliteration
Personification
4, Metonymy

il ol

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496343843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ldentify and name the figure of speech used in “We wish’
(line number 12).

Metonymy
Pun
Personification
4, Alliteration

Ll

Options :
1.1
2.2
3.3
4.4

Question Id : 36496343837 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:

As a fond mother, when the day is o'er,

Leads by the hand her little child to bed,

Half willing, half reluctant to be led,

And leave his broken playthings on the floor,

Still gazing at them through the open door,

Nor wholly reassured and comforted

By promises of others in their stead,

Which though more splendid may not please him more;
So nature deals with us, and takes away

b L L B o

10. Our playthings one by one, and by the hand

i Leads us to rest so gently, that we go

12, Scarce knowing if we wish to go or stay,

13. Being too full of sleep to understand

14. How far the unknown transcends the what we know

Sub questions

Question Number : 100 Question Id : 36496343838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The poem deals with the idea that human life is

immutable.

immortal.

full of ups and downs.
impermanent.

i B e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496343839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The narrator of the poem is

1. a greedy child.

2. an aspiring youth.
3. adisillusioned man.
4. a reflective old man.

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496343840 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The tone of the poem is:

depressing
pleasant
solemn

4. reverential

b B e

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496343841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is true?

1. The child is tired and wants to go to the bed.

2. The mother rebukes the child for not obeying her.

3. The child cries because someone has stolen his
playthings.

4. The child is partly willing and partly hesitant to be
led to the bed.

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496343842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which figure of speech is used in ‘So nature deals with us,
and takes away our playthings’?

Metaphor
Alliteration
Personification
4, Metonymy

Ll

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496343843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify and name the figure of speech used in “We wish’
(line number 12).

Metonymy
Pun
Personification
4, Alliteration

W N

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649632562

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496343844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Development of the mother tongue in a child is generally assumed as

1. language acquisition

2. language learning

3. language assimilation

4. abstract language development

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496343844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Development of the mother tongue in a child is generally assumed as

1. language acquisition

2. language learning

3. language assimilation

4. abstract language development

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496343845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Stories during the early years of language learning are

for moralizing

inputs for language learning
repetition and reproduction
learning one’s society

P Ll B P



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496343845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Stories during the early years of language learning are

for moralizing

inputs for language learning
repetition and reproduction
learning one’s society

P Ll B P

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496343846 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher of class V gives lots of sentences using words like ‘sood’ ‘beautiful’ ‘bad’ ‘colourful’ ‘old’ ‘young” and when
learners have noticed these words which she named them as ‘describing words’. Later she gives more sentences in
which the learners are asked to supply these describing words. At the end she draws the attention of learners that
these words are known as ‘adjectives’. What is this strategy known as?

1. Grammar teaching strategy
2. Consciousness raising

3. Teaching adjectives

4, Content based grammar

Options :

1.1



2.2
3.3
4.4

Question Number : 108 Question Id : 36496343846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class V gives lots of sentences using words like ‘good’ ‘beautiful’ ‘bad’ ‘colourful’ ‘old’ ‘young” and when
learners have noticed these words which she named them as ‘describing words'. Later she gives more sentences in
which the learners are asked to supply these describing words. At the end she draws the attention of learners that
these words are known as ‘adjectives’. What is this strategy known as?

1. Grammar teaching strategy
2. Consciousness raising

3. Teaching adjectives

4, Content based grammar

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496343847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method believes drilling as a major technigue?

Grammar Translation Method
Community Language Teaching
Whole language perspective
Aduiolingualism

P L B b

Options :
1.1
2.2
3.3



4.4

Question Number : 109 Question Id : 36496343847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which method believes drilling as a major technique?

Grammar Translation Method
Community Language Teaching
Whole language perspective
Aduiolingualism

o L B b

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496343848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multilingualism is

1. learning as many languages as possible.

2. learning the mother tongue/home language only

3. starting with mother tongue/home language and move on to add more languages in school.

4. starting with mother tongue, moving to English medium and adding another language in high school.

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496343848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Multilingualism is

1. learning as many languages as possible.

2. learning the mother tongue/home language only

3. starting with mother tongue/home language and move on to add more languages in school.

4. starting with mother tongue, moving to English medium and adding another language in high school.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496343849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hindi is India’s

national language

official language
associate official language
classical language

B L B B

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496343849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Hindi is India’s

national language

official language
associate official language
classical language

= L B

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496343850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Errors committed by learners in their writing and speaking should be treated as

constraints in their learning
indication for earning

problems for learning languages
4. indications for error correction

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496343850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Errors committed by learners in their writing and speaking should be treated as

constraints in their learning
indication for earning

problems for learning languages
indications for error correction



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496343851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learners undergo stages for developing a good write up. What is this approach known as?

1. Product approach to writing
2. Official writing

3. Study skills

4. Process approach to writing

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496343851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learners undergo stages for developing a good write up. What is this approach known as?

1. Product approach to writing
2. Official writing

3. Study skills

4. Process approach to writing

Options :
1.1
2.2
3.3



4.4

Question Number : 114 Question Id : 36496343852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children in their early years scribble on the wall, floor and in note books. What is this stage in language learning
called?

1. Scribbling

2. Emergent literacy

3. Writing skills

4. Graphic development

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496343852 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children in their early years scribble on the wall, floor and in note books. What is this stage in language learning
called?

1. Scribbling

2. Emergent literacy

3. Writing skills

4. Graphic development

Options :
1.1
2.2
3.3
4.4



Question Number : 115 Question Id : 36496343853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is assessment for learning?

Written tests

Term-end exam
Formative assessment
4. Summative assessment

Lk Dk

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496343853 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is assessment for learning?

Written tests

Term-end exam
Formative assessment
4. Summative assessment

il Bt

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496343854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If a child is good reader in one language she/he can be a good reader in another or in any language (when he learns
another language). This is known as

1. reading competency
2. reading strategy

3. skill transfer

4. higher order skills

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496343854 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a child is good reader in one language she/he can be a good reader in another or in any language (when he learns
another language). This is known as

1. reading competency
2. reading strategy

3. skill transfer

4. higher order skills

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496343855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Learning outcomes are

competencies to be achieved or performed by learners at the end of a course
objectives of language teaching as delineated in language curriculum and syllabus
based on the communicative skills of leaners during a course of study

4. the processes through which learners are expected to perform

LR e

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496343855 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning outcomes are

competencies to be achieved or performed by learners at the end of a course
objectives of language teaching as delineated in language curriculum and syllabus
based on the communicative skills of leaners during a course of study

4. the processes through which learners are expected to perform

e

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496343856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which two of the following are the main aims of remedial teaching?

Remedial teaching is for learners to improve their learning.

Remedial teaching is for teachers to make changes in their teaching.

Remedial teaching is for teachers to understand their leaners.

Remedial teaching is for the parents to know why some learners need improvement

o N oo

aandb
candd
aandd
4. candb

b a2

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496343856 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which two of the following are the main aims of remedial teaching?

a. Remedial teaching is for learners to improve their learning.
b. Remedial teaching is for teachers to make changes in their teaching.
c. Remedial teaching is for teachers to understand their leaners.
d. Remedial teaching is for the parents to know why some learners need improvement
1. aandb
2. candd
3. aandd
4. candb
Options :
1.1
2.2
3.3

4.4



Question Number : 119 Question Id : 36496343857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher divided her class into five groups with five learners in each group and asked them to find words related to
home, school, road, land and sky. Each group found ten to fifteen words each and shared with the other group. What
technique did the teacher adopt for teaching vocabulary here?

1. Words and phrases

2. Thematic vocabulary
3. Categorization words
4. Normative vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496343857 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher divided her class into five groups with five learners in each group and asked them to find words related to
home, school, road, land and sky. Each group found ten to fifteen words each and shared with the other group. What
technique did the teacher adopt for teaching vocabulary here?

1. Words and phrases

2. Thematic vocabulary
3. Categorization words
4, Normative vocabulary

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496343858 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Constructivism as a learning theory believes

learning is individual characteristics

all learners can not learn languages

learning is completely a psychological phenomena
learning is socially constructed

= Ll B P

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496343858 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Constructivism as a learning theory believes

1. learning is individual characteristics
2. all learners can not learn languages
3. learning is completely a psychological phenomena
4. learning is socially constructed
Options :
1.1
2.2
3.3
4.4
Language II
Section Id : 3649631425
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 3649632563
Question Shuffling Allowed : Yes

Question Id : 36496343859 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496343860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I A= A
2. ARG O qr A
3. Torersm
4. g
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496343861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T % S O F9-97 FIT T2 T8l 27
| Fid i seatwa B
2. T H AT I T 2
4. I W T, TR, FeT o711 e B

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496343862 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T H A T TR e TS S AT 7
| BT g TR
, mﬁa_mﬂﬁ% EEEuks]

3. FET AT O § @IS I |
4. TR FEIEUFAT

—

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496343863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

aﬂfwiﬂ S0 ST 20
I B
2. T T S-S
R L= R IGIE LY
. T
4. Qi T FAE

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496343864 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e 7 14 EAT-
1. 7 T e
2. W &t w1
3. g H FE
. I

=N

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496343865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TE TTeT T HIT o B -

[ Gikie

;;
E

3
bl
4 T+¥9
d
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496343866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



- § T S —
. AT Fegey

HUT AT

3. He eI

4, SIS CINICIIA

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496343867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TR I AL -

. IR

Options :
1.1
2.2
3.3
4.4

Question Id : 36496343859 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



frefefgs et it samaEe Tee fou T wat w5 we I i)
FeAT = TS WIAT AT AT i W Gl Ge s ©| 39
FeTe, Srerer T i = 2| oEEn 39 78 o e e B S
T USRI 3 AT 2| eI 99T STeTe| I ¥ T 5, IHRAT S,
e, T, T, SHISTET, T, S, B 1S ITH 81 & 391 o Arara
[ AT 2| S0 § T T F2T T 8| BT U1 AT W FHALA0
ek T o T B ATeT WHER0T hl T ST Hehal | 1 | | 3
ST IR 1 ST ST Hehal & T Je1 3l G @1a ST 3 HH
ST 2| AT H TS T T T T 2 AT H T FRO I FA G
BT E ar-lﬁh‘gﬁm \rtric;-xﬂ—gacﬂ“fw (T 2T 2| UTT 1 Ferd
TR %@tw TSR AT 7 F 2 THeAdT 2| feameee, anf=r,
. TS, TS, To ST I T T I 9T T 2T v B

Sub questions

Question Number : 121 Question Id : 36496343860 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wﬁﬁa%ﬁﬁmmﬂgﬁﬁﬁ
1. T
2. ARG 9 A
3. Torerm T
4. FATH
Options :
1.1
2.2
3.3

4.4

Question Number : 122 Question Id : 36496343861 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T F T T FA-HT YT TE AR 20
1. 37 {9t =1 sheara Ted 2
2. I H AT IF BT 2
3. T E ST T T w2
4. T S, TR, FF AT e E
Options :
1.1
2.2
3.3

4.4

Question Number : 123 Question Id : 36496343862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
it & qfer it wr wrfer 3 v o R 2
| B g TR
. g % e o
3. FET FT R H @ a4
4. TH W FII T

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496343863 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FET 3T T T T 27
| By
3. SSSIEIRIEN
4. Ut = Ferd

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496343864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e 7 14 EAT-
1. 7 T e
2. W &t w1
3. g FFI
. I

=N

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496343865 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. §: + 7T

;;
E:

%
]
4 T+H¥9
~
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496343866 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

- § T S —
. AT Fegey

HUT AT

3. He eI

4, SIS CINICIIA

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496343867 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649632564

Question Shuffling Allowed : Yes

Question Id : 36496343868 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension

. =, " -~ o - -
Trter e TrereT = TG TGH T2 0 7t = HET I At

TSrer T 19 7, 9% S 39T 9T €, TR 3 AT 2 Wi o e
qROT F T ERE 3T 2 O SES § o I 1 AR @A 2l S
AT ST T, ToeT FA I T B, F ard °, oK 9, e
FH° T T AR i =AY T 2| THaT 3 T 2] &
TR BT 2, S SA90Ee S o T8 ©f Id 99 | [
T ffee =0 9 %9 999 o07aT 2| S99 & 878 SaET efi-efi st 2
T % Tt e ofie fft 2 Su B 2| 91 FE T Sigel @ T o
o T UITH UTeET S B ST ST S 8, A TE SEehT e
TET B T TN TR T A T, U B A He g

Sub questions

Question Number : 129 Question Id : 36496343869 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T R UTH Tl o ToA0 ST&T 2 —
1. =951
2. W
3. H4qrE
4. 9F
Options:
1.1
2.2
3.3

4.4

Question Number : 130 Question Id : 36496343870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
“o7efIT o=, I A T T SAhIE Bl i = aTed T

. S 4 F Y #d 5 B

S T & &1 Wd B B

3. S ECFE ¥ Segars 7 2

4. ST BEA-IH 1 AT Fd 2

[

[

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496343871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HA-TITTH 5 SHI-5T TEE 29
2. AT §HM
3. 2 9HH
4, TSI T

Options :

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496343872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR B9 9T 9T §g 34T 87
|. STEF-ITH
ST T

4. HEHTS OTH S T

-3

sl

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496343873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



qFAdT T THTT o T 2raT 27
1. < i e e
2. St T ffr i e 2
3. =t @7fiT 99 o T A 2
4. S FeRr, T T B

Options:

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 36496343874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. ¥F
2. R
3. #HAMWT

e

4. =T
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496343875 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



“TRTer” T SUEAT B —

2
2. I
3w
4. TF

Options :

1.1

2.2

3.3

4.4

Question Id : 36496343868 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension

frteARgs mrereT = wl-mmc;m TR TS0 0 4T 3 WET I A1)

Torrer uTer 991 2, =78 T 3= AT 2, TTH 3 o 8] Tt B o
JRUT S 1 O 24T 2| 9F SfaT o U 1 2aR @ierar 2| S
ST “STee! ohil, Soet Al hi 72 =0Td &, o JITead J, 377 7, I
9 ohT TT=I TRl ol TS 3id 2| TReTdT ST T8 3721 ol
TITH BT 2, S AEE 1 | =1 T o] I 79 | {5 w5 we
T 3o =0 9 9 999 =0T 8| 999 & 678 ST i-off o 2
HEW % Tt FF ffE off 2 wue 2 2| 3 S T S | g o
% T UL QUi Y & T T AT 2, A 78 et i
TEAT 2| & I TR W AT &, U S-S 9§ O E

Sub questions

Question Number : 129 Question Id : 36496343869 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST FUTH T F T S R

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496343870 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘o7efIT O, T A T T SRl ol T =edTy
. S 99 o Y L 5 B

. ST OTe™ o Y % B B

3. S FE ¥ FoecaTs T 0 B

4. S Sy T ST HTEAT 0 2

.

[

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496343871 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HA-TITTH 5 SHI-5T TEE 29
2. AT §HM
3. 2 9HH
4, TSI T

Options :

1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496343872 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR B9 9T 9T §g 34T 87
|. STEF-ITH
ST T

4. HEHTS OTH S T

-3

sl

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496343873 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



qFAdT T THTT o T 2raT 27
1. < i e e
2. St T ffr i e 2
3. =t @7fiT 99 o T A 2
4. S FeRr, T T B

Options:

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 36496343874 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
1. ¥F
2. R
3. #HAMWT

e

4. =T
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496343875 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR T S & —

I-J

s I I

!
4,
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 3649632565

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496343876 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ToeAferitas & & 9.9 e T o % ford oet 981 29
| ST TS 725 T & SR T 3 SF00 1 27
. T2 SFE TYT T G T S0 T Ve ST § S 0 Sg 31 S5 2T 2
3. T Tl TRt WIS EE | 2T 1 2|
4, ST Y et T gt e e B

| ]

Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496343876 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FeATeTEs & & -9 faehe 1o Hrge 2 o e e 2
| ST HTVTeR T T ) ST 3 7000 97 27 2
. TS TR T TG T T S0 1 e Teren H SR WTHTH g 3 479 2l 2
3. T ) e o gt 5 e e 2
4. ST Sty et T e et e 2

| ]

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496343877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T TThAT T5Tees T faremeff uer drgar 2 —
|, T 9T S
2. TawmETTE
3. TG SATIRE
4. HTHT-STHTHT

Options :

1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496343877 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TE TTERAT TSTEh g Tereareff we a2 —
|. T 9T @

IEEIEIE:ED

3. TG SATRA

4. ATHT-ATITR

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496343878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T STETeR ToRT ST 26T 3127 77l e TS o6 0 3 ¥iigat &/ < & 36 57 T 2 —
|, T &7
. ST ST ST
3. WIS
4. TS HrET
Options :

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496343878 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



6 TR [T T 6 30T ST 1] 7T o6 0 5 e &/ 2 60 J1 ref 2 —
. 9T S
2. ST ST
3. WIS
4. ¥TSTHEAT
Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 36496343879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
eTREs O © FIF-5T F 5T 97T 31 T T 1T 31 T91T 3 & o7 ST 29
. Aferar & o wer=at =1 v
2. FT ST T 3 7T el
3. TOTHITA % &9 & FEH G
4. TFYAH T FEH BT

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496343879 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



=TT © ¥ Fi5-a7 70T 97T 5 T ¥ FETa A 6 % ngﬂm%‘?
| Afeerar & o2 srar=a 1 v
2. 7 HTEA R 3 [0, T
3. TORATeT 3 &0 & FEHT g
4. TFIF EY ° FEM TR

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496343880 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A [V 1 SR T, F T, W, A ¥ I et e A T 3 36 AT e 3
Wmﬁmaﬁqﬁ%awmﬂ*www meﬁmlwﬁﬁﬁﬁﬁﬁmﬁ*ﬁmﬁﬁ
1 3 1 0 3 I 6% 1 @ (o e 2 mﬁagaaﬁ%%sra‘ FTF Feq 7| TE AT
T )

|, T favam

), T T

3. e T

4, T

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496343880 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A [V 1 SR T, ., F T, L, A, S I 3 A A S 3 A e
STER] O S 0 € (9 ARG ° ‘R Teal 1 AT <) 16 % 9% 3¢ 0 4 T & AT VT
1 5 T 5 R, Y] 91 o o ol e 2] 917 W 92 T 2 T 3% ‘e e 2] 72 R
T 27

|, T

), TS T

3. T A

4, T3 AT

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496343881 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T e S SR U A 5 FU T T A 27
| T T T e A ST T A 7 SR T e e
2. Tt T 37 T 6 0 B T T 9 S # A0 o o g
3, Y e ST 5S4 e v
4. TR ST 3 0 5 T 97 T T A A W0
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496343881 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Teree T o TR U 1 EU A4 )
. ol A v o T o T A R v ok
), TV o R 3 e o T T G e e o e e
3. Tt ot SO S5, T T 4 e v A
4, TR T O A F 0 5 -4 71 T TR S WA F #0 T
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496343882 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
WA Gl F 2= w6t 337 &1 fear man &2

1. TS WTeT
2. TIS-H1ET
3. | IS-HmET
4. FITEF- 9T

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496343882 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT W & Tt wreT =t = o= feaT e 8
1. TS WISt
2. TST-HmET
3. | TSF-H19T
4. TEF- 9T

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496343883 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T at 3 S Rt o8 gt
1. T 31 FA =0,
3. STVTE % IR 39 S ¥ S ST
4. STRIGUT FUT TITH o ZRT 31 Sl AT =T

[

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496343883 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT T o6 SR et A A
1. qea 3 AT =R
3. 3TYTE % N7 39F S° ¥ AT ST

Options :

[-J

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496343884 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TV A SRR AT T 1 3 1 U 2 70 AR ¢ A A T A I T
T g o fem e 2| %ﬂﬁﬁﬁmﬁmﬁﬁf?ﬂm.vmu‘imﬂﬁwﬂﬁwﬁc elREERED
X T A A

I, lréﬂig:ﬁrsrulq\sumq

), Torg 1 e s
3, TG ot o o e 3 ot e
T e

Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496343884 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TV A SRR AT T 1 3 1 U 2 70 AR ¢ A A T A I T
T g o fem e 2| %ﬂﬁﬁﬁmﬁmﬁﬁf?ﬂm.vmu‘imﬂﬁwﬂﬁwﬁc elREERED
T T A T

|, o7 %1 77078 UM

), oG 1 T3k 9T

3, o7 1 U & % 5 Tt e

4. ST e
Options :

1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496343885 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T4 T ATer 3 T (414 T 0T A7GH 31 T2TT 74 Y o Sehierd e 39 e
S| 3 AT 3T 3 o 9§ A A )

2. WFAATE

3, A A

4, IR A

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 36496343885 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T ETH7 TR STTHTg 3 o, (T STl O W ot e 9 R 3 ol 30 37 i
T 3 AT T 1 T B S A1 2

|, TR e

2, T

3, ¥ A

= o)
4, SIS HATherd

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496343886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TATeAEa B ® WTST-f3T40T 7 SFi-91 T 6@ & Ta%eT W hisd 27
I STTATST SATTRA WIS 37807
2. TRIGT SATETRA TaT fareqor
3. HUGUITEHS HTST f37e70
4. e femequr <ft e farfer

Options :

1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496343886 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Traferftas o & wTST-TSTa1or 7 -6 T e F I Ee W F e 20
. TTGHTST ATEITRE WIS foreqor
2. ST ST WTuT forequy
3. HUGUTTEE WTET fITeqor
4. ey Tereqor st Tl fafer

Options:

1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496343887 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T 17 He2Y § ITeaTaedl URH o To10 5§ Sae AT fae A 2/ 2 —
Wqﬂdﬁiﬁ ST ST 29
. e |
=
2. drdideh a5

> 2 e
3. WIS UM % S

4. Tawge sTeeTa]
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 36496343887 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



e ToTeTer TN ¥ STeaTaeT YBT3 10 TR ¥ e qu Rgeit s e R
wﬁﬂﬁﬁ\mmwm%?
|. WEETF At
[
PR ISR |

3. WS ucm‘-fiﬁm-gﬁ
4. Tawas segTaet
Options :
1.1
2.2
3.3

4.4

Question Number : 148 Question Id : 36496343888 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T FETVeR AT T i .30 9 5 e € & 7 S 5 A 1 6 77 % SR 7, A,
S S 79 T 0T o T T T U 0 oA e £ A T T o o o e |
ERAET R I

|, e

). TR

3, T 74 v

4,
Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 36496343888 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FEATIVGRT AT e i -3 9 3 e G & 7 S 5 T 71 6 270 % S 7, 9
A ST <79 O 94T o5 ST eI R B o o0 el £ 0 9 O HTeAR TS o % o e 2] 7
A R T T TR

|, v

). TR FH

3, qrew A o a7

4,
Options :

1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496343889 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T STV SRS T UG 8 el 01 el 111 3 Tt &1 470 -2 A4 e & T &
e, T T e 3 T 5 T T 5 T e 2 7 o 1 T S 2

1. T AT T SRS B Tk, T 01 A

). T TR F e v A e

3, T AR

4, HTT 3 T ) A T 7 M 1 o

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 36496343889 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T STV SRS el T W2 701 et (11 % Vet 1 ofwet WIS 7o oo o 0
5, R T T 5 T o T 3 3 T, e ) T o 1 0, A 71 €7
|, TR 0 ST SIS Tl T T 1 STl
2. T T A T T S O
. T HR T
4. FT 35 ST A A % 57 M 31 1 e

LS

Options :
1.1
2.2
3.3
4.4
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